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CBT Sample assessment model answers

Management Accounting: Decision and Control (MDCL)

Sample assessment 1

Task 1  (16 marks)
[image: image2.png](a) Calculate the budgeted quarterly costs of production for the following activity levels to the nearest
‘pound (£) and classify each cost using the dropdown boxes. (8 marks)

Quarterly production

units

Dirctmaterls I o ~ |
Rent ) [ |
Leaseamacnines I =~ |
arenance 00t | 3500 | emvanave [l





[image: image3.png](b) Calculate the total fixed and variable overheads for the following production levels.
Enter your answers to the nearest pound (£).

21,000

181,000

126,000

36,000

193,000

205,000

(4 marks)




Task 1, continued
[image: image4.png](c) The bus company wishes to know how much it cost to transport one passenger over one kilometre. (2 marks)
(km). The total costs last month were £68,586. Calculate the cost to 2 decimal places.

3 230

(@) Are the following statements true or false? Use the dropdown boxes to indicate your answer. (2 marks)

The standard prime cost of 2 productis the fofal of =
direct material and labour coss plus variable overheads. e

d

When calculating the standard fullproduction cost of a product |
allfixed and variable production costs must be included. ue





Task 2  (12 marks)
[image: image5.png](a) () Calculate the four missing figures to complete the table below. Enter your answers to the nearest

‘whole pound (£). Enter a zeroif there s nil variance.

(@) Use the dropdown boxes to indicate whether each variance you calculate in a) is adverse, favourable
ornil.

Standara reccostof actual procucton 2000
horctspricevarance so00| e Rl
horcts usage varance so00| e Rl
Diecttabour ate varance of nivarance
Diectiabour siciency varance 000 | Farourse Rl
hctaldrect costofprocucton 000

(7 marks)

3 marks)




[image: image6.png](b) Complete the following two sentences. (2 marks)

The actual quantity of material usedis [ gs] ka.

The standard labour rate s £ [ 1g] per hour.





Task 3  (12 marks)
[image: image7.png](a) Calculate the following figures.
For the variances, enter zero if there is no variance.

Use the drop-down lists to indicate whether the variances are adverse, favourable or nil.

Standaraiires ofuetfor 000 joumers To00] tves
Standard abour hours or 5000 oumers Z5000] howrs

Fod vereads volume varance [ foese Bl
e e e I e P e

5500 oumers

Totlhed oveneads varance AT |~ |

@ marks}




[image: image8.png](b) Calculate the fixed overhead capacity variance and use the drop-down list to indicate whether the

variance is adverse, favourable or nil.

Enter a zeroif there is no variance.

‘The fixed overhead capacity variance is

B

[24000

[favourave.

3 marks}




Task 4  (12 marks)
[image: image9.png]Complete the budgeted profit statement below for month 3, using absorption costing and marginal
costing.

Apply the appropriate standard cost for the valuation of production and inventory.

Use positive numbers only for the sales to fixed overheads rows. Do not use minus signs or brackets.

For the final row, record any loss figure with a minus sign.
If any answeris zero or a figure is not required, enter ‘0’ into the relevant cell.

ing  Marginal

nth 3 (£)
Sales -monih 3 990,000) 990,000
Opening inventory 279,000 144,000
Producion costs 950,000 500,000
Glasing iventory 120,000 100,000
Gostof sales 1,039,000 544,000
Fixed overneads o 450,000
ProfifLoss 49,000 4000

(12 marks)




Task 5  (12 marks)
[image: image10.png](a) Enter the appropriate three month moving averages into the table below.

Three month
Month units)

Decemper 5760

- 5820 5780
p— 5760

Warch 6,600 5,150
= 5120

ay 5150 5200
June 339

(b) Complete the following sentences using the dropdown boxes to indicate your answer.

Seasonal variation equals actual data ata point less [rend data atthe same point.

The observation that trafic volumes are higher during aylight hours is an example of

[seasonaivariations [

3 marks)

(2 marks)




Task 5, continued
[image: image11.png]The information below relates to proguction costs and the RPI index.

(c) Complete the table below by restating the following costs at January prices. Enter the figures to the.
‘nearest pound (£). 3 marks)

January 129,000] 170 129,000
March 132,000] 72| 130,485
June 135,000) 174 131897

(d) Complete the following sentences: (2 marks)

The prediction of  figure oulside of a data range already observed s known as [exrapolation. [l

The effectof long term economic movemens s known as [cyclical [l variations.

Abusiness's production costs vary in a linear manner, and can be expressed using the regression equation
2+ bx, where x = production volume. Total producion costs of 200 units and 2,000 units are £5,000 and
£14,000 respectively

(¢) Calculate the values of a and b. (2 marks)

Value of a: 4,000

Value of b 5]





Task 6  (24 marks)

(a) (i) (12 marks) 

A max of 4 marks per event.

STORAGE FACILITIES 

The reduction in rent would have reduced fixed overhead expenditure                            

and is reflected in the favourable fixed overhead expenditure variance.                           

MACHINERY 

The new machinery was more efficient and should lead to favourable labour efficiency   
And favourable fixed overhead efficiency variances.                                                                
The increased depreciation however, will increase fixed overhead expenditure.                  
STAFF UPGRADE 

The higher skilled staff - probably responsible for the favourable labour efficiency variance. 
They are also likely to have led to the favourable materials usage variance                                
If fixed overheads are absorbed on a labour hours basis                                                                 
 then this would also be the reason for the favourable fixed overhead efficiency variance. 
However, the new staff would have caused the adverse labour rate variance                        
as they are likely to be on a much higher wage rate per hour.                                                   
Any overtime worked by the new staff could have led to the favourable capacity variance. 
 (a) (ii) (6 marks)

The fixed overhead standard cost should be amended to incorporate the saving in rent on the storage facilities                   

The changes to efficiency and the increase in depreciation will need to be incorporated into the labour efficiency, fixed overhead efficiency and fixed overhead expenditure standards when the performance and expense figures are known.          

If new staff are permanent - standard labour rate & hours should be updated.                      

(b) (6 marks)

Mention of Integrity, Objectivity, and Professionalism 

Self- interest versus goal-congruence 

Laying off of unskilled staff versus retraining 

Hiring expensive staff rather than retaining cheaper staff 
Task 7  (18 marks)
[image: image12.png](a) Complete the statement below. (1 mark)

An activity where there is opportunity for reducing the costwithout reducing a products value to the customer

isa [nonvalue-addes i achvit

A small business has supplied the following information:

£
Tumover 1,500,000
Costof materials used 700,000)
Cost of bought n senvices 300,000)
Number of employees 10]
(b) Use the information provided to complete the statements below. (2 marks)

‘The total value added s £ [ 500,000]

Value added per employee is a measure of [productity. il





Task 7, continued
[image: image13.png](c) Complete the profit and loss account below using the following performance indicators.
Enter ALL figures as positive numbers - do not enter negative figures.

sales 1,460,000
Variable production costs 657,000
Fixed production costs 438,000
Gostof sales 1,095,000
Gross proft 365,000
Non-producton costs 146,000
Net profit 210,000

9 marks)




[image: image14.png](@) Calculate the following ratios using the above figures.
All answers must be to the nearest whole day and based on averages where applicable. (5 marks)

Payable
holding period  payment period

o | o | o=

(e) Complete the following sentence. (1 mark)

The “innovation and leaming perspective” s associated with the conceptof [ balanced scorecard il






Task 8  (15 marks)
[image: image15.png](a) (i) Complete the table below for the next reporting period by calculating the missing figures for Jackal

and Hyena.

Total materials required (kg)

Total abour ours required 5000 20000
Contribution per unit (£) 7 9
‘Contribution per limiting factor (£)

(0 TWO decimal laces) e 420
‘Optimal production (units) 5,000 7.500

(i) Calculate the maximum extra premium that would be paid for each of the following and enter your
figures into the boxes below to the nearest whole pound (£) .

5,000 kg of additional material: £

5,000 hours of additional labour. £

0

22500

(10 marks)

(2 marks)





Task 8, continued
[image: image16.png](b) (i) Calculate the profitfigures for the current and proposed scenarios. (2 marks)

itua

Current situation .
quipment

(@ Complete the sentence below to indicate whether or not new equipment should be acquired. Use the.
dropdown box to indicate your answer. (1 mark)

[routanot Rl be better to acauire the new equipment





Task 9  (15 marks)
[image: image17.png](a) Complete the table below using Activity Based Costing (ABC) principles. 6 marks)

Cost driver - per material requisition 250

‘Cost driver - per production setup. 1,000

Total materials handiing 100,000 300,000 400,000

Total production set-ups 150,000 450,000 500,000

(b) Using the information supplied in (a), calculate the fixed overheads assuming they are absorbedona (2 marks)
‘budgeted labour hours basis.

Fixed overheads 750,000 250,000

() Using the information from (a) and (b), calculate the total cost per unit under the two different methods
totwo decimal places. 6 marks)

Total unit cost - ABC 3710 5233

Total unit cost - labour hours. 4710 3333

(d) Complete the following sentence using the dropdown. (1 mark)

In ABC systems overheads are allocated to each major activity rather than to each [separiment. %]





Task 10  (24 marks)

Contributions 

The main reason is because of the much higher variable costs in Charlie/lower variable costs in Delta.                                                                                                

On an initial reading this might look much better for Delta because it has the higher contribution.                                                                                        

Mention of difference in operating gearing

The selling price has no effect on the differing contributions as it is the same for both products.                                                                                            

Break-even points 

Despite lower contribution per unit Charlie has a lower break-even point 



 because of less fixed costs.                                                                                  
 

This means Charlie has enough contribution to easily cover the fixed costs. 


This means Charlie doesn’t have to sell as many units to cover the fixed costs/

Delta would have to sell many more units (6,500 more) than Charlie.               
 

Margins of safety 

Charlie has a much higher margin of safety at 50%                                              

Delta margin of safety is only 20%







For 2 main reasons, firstly it has a much higher sales volume                             

And secondly has a lower break-even point                                                           


and thus can suffer a bigger drop in volume (2 marks) before breaking-even.

Delta’s volume only needs to fall by 6,000 less units before it breaks-even and faces the prospect of losses.                                                                                                    

(b) Risk analysis and how to reduce it. (Max 10 marks)

From a risk perspective Charlie is the safer option. 

Its sales volume would have to fall by half before it hit problems.              

Delta is the riskier option because:

Its fixed costs are 67% of its sales revenue





Task 10, continued
It has a lower margin of safety than Gamma






Ways of reducing the risk include, 

cutting back on fixed costs,                         





reducing variable costs 







or increasing sales price/volume.               





Mention of outsourcing (conversion of FC to VC)                                 
 

Delta is the riskier option and would need further investigation but         

Delta would be much more profitable if sales increased significantly.     

The notes below cover a range of possible points that you may include in your written response.


These examples are not intended to be exhaustive and other valid comments may be relevant.





The notes below cover a range of possible points that you may include in your written response.


These examples are not intended to be exhaustive and other valid comments may be relevant.
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